BHEYMEEME - TEERREE

V- RR204F (HAL 2 h s %)

IBAT (3= 2 & FE &R |eiER R B | OB M F M| SE Akt

=) £t 21,191,682(100.6/100.0 =) £t 21,191, 682| 100. 6/ 100. 0
1 (2)|&E | 4,194,469 104. 1| 19.8|1 (1) |F #El 4, 113,041[113.0f 19.4
2 (DA o = AL 4,190,804 97.2 19.82 (2) &K H 1,984,678 90.6[ 9.4
3 )|z Bk B # H| 2,797,942| 82.7| 13.2||3 (4) | k[ 1,889,285[102.0[ 8.9
4 (4)|BE 1 | 1,551,520(108.3| 7.3[4 (5)|4 El &| 1,843,508]104.3| 8.7
5 (5) |k Ml 1,304,980[106.5] 6.2[5 (3) I g 1,513,903 79.4] 7.1
6 (ME & F | 1,096,850|116.3[ 5.26 (7)[kK Ld A 1,406, 172]106. 7| 6.6
7 (6) |4 M 1,094, 198[106.2| 5.2f7 (6)|= wl 1,172,617 76.2| 5.5
8 ®W F - W 991,702 121.5| 4.7 8 (8) |/ 4 Ik 912,112(109.1| 4.3
9 (9) | oy vk L s fid 533,987| 96.9| 2.5l 9 (10)|FE 5 862,996 140.1| 4.1
10 (12) |8 #H 533,182(132.7| 2.5f10 AD|H F @ f 536, 165(102.4| 2.5

10 & fE A& FH 18,289,634 100.9| 86.3 10 ¥ & FH 16,234,477]100.3| 76.6

5 D fin| 2,902,048 98.7| 13.7 z D fth| 4,957, 205(101. 7| 23.4

(E) MEGZ> () P, RiTFEONARL,

BAEMEEME - TEERREE

SRR 204 (AL : v s %)

BAT (3= 2 & FE &R |eiER R BN | OB M F M| SE Akt

= | 28,907,396 96.5[100.0 & £t 28,907,396 96.5/100.0
()R [ 10,941,939(103.6| 37.9[1 (D= Al 10,941, 300{ 105. 6 37.8
2 @ A | 3,576,393 95.6| 12.4)2 (5)|4 i J&| 2,486,883|124.4] 8.6
3 Ik A > B 2,831,222| 86. 1 9.8|3 (3)|k [d Al 2,354,728 95.3] 8.1
4 @lE W & 2,612,955 96.5] 9.0f(4 (2)|F #E 2,271,400 89.5[ 7.9
5 (6)|8 M| 2,360,907|121.8| 8.2[[5 ()|l | 1,786,987| 87.8| 6.2
6 (5|5 Bk B B =H| 2,134,143] 96.3[ 7.4 6 (6) A i 900, 366| 77.0| 3.1
T (DA | 1,218,807 72.3| 4.2 7 (8)|A UN 5, 600,810 84.3| 2.1
8 Y|l & ® M 845,960(127.9] 2.9 8 (12) |k = 557,500(109.2| 1.9
9 B)|®E T 837,636 73.3] 2.9[9 (10)|Xi H 549,995(103.4| 1.9
10 (1) | JX el 358,894 84.2| 1.2ff10 (7)) Il 530,545 74.4| 1.8

10 & fE A& FH 27,718,856| 97.7| 95.9 10 ¥ & FH 22,980,514 99.7| 79.5

a D fin| 1,188,540 75.1| 4.1 z ) fth| 5, 926,882| 85.7| 20.5

(E) MEGZ> () P, RiTFEONARL,

- 18 - FEOOEMIERMA FM (FM20FE) WETERER



